Algebra 2







Name: _________________________

Unit 3, Day 6







Date: _______________ Period: ____

FX 56 – 59 Replacement Worksheets:  Graphing Exponential Functions
Fill in each table and sketch both functions on the same axes.  Use different colors for each function.
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 are symmetric with respect to the 
_______________________.
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 are symmetric with respect to the 
_______________________.
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_______________________.
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 do not have symmetry with respect to the x– or y–axis.  They have point or rotational symmetry.  Therefore, they are symmetric with respect to the ________________.




CONCLUSIONS:
If b > 1, then 
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 is a(n) __________________ function.  

If 0 < b < 1, then 
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 is a(n) __________________ function.  

The y–intercept of 
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 is ____________.   
There are __________ x–intercepts for 
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=

.

The horizontal asymptote is ____________.  

For 
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 when b > 0, the domain is __________________ and the range is __________________.  
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